Pounds and Pence

1.A £15and 3p; B. £20 and 92p

2 AandC

3.BandD

4. Quinn is correct because they need 20p more which is the same as four lots of 5p
coins. Quinn and Sara currently have £8 and 78p and they need 20p more to buy the
watch for £8 and 98p. Sara’s suggestion does not work because they will only have 12p
more as six lots of 2p coins equals 12p.

5. The additional coins Kayla could have include various answers, for example: one £2
coin andiwo 1p coins; two £1 coins and one 2p coin.

6. Various answers, for example: Isla: two £5 notes, three 10p coins, one 5p coin and two

1p coins; Rahul: one £10 note, one £1 coin, one 20p coin, three 5p coins and one 2p
coin.

Classroom classroomsecrets.co.uk
K.Ef"crem* Founds and Pence — Prior Learning ANSWERS

& Classroom lecrets Limited 2021



